
Updated:  June 2013

KDP3              2SPRAY Double Diaphragm Pump

1300 277 729  1300 2SPRAY     ANEST IWATA AUSTRALIA  www.anest-iwata.com.au



ITEM NO. PART NO. DESCRIPTION ITEM NO. PART NO. DESCRIPTION ITEM NO. PART NO. DESCRIPTION

1 KDP3.01 Pump Body (1) 20 KDP3.20 Box - Ball Valve (4) 39 KDP3.39 Ball Cock (6)

2 KDP3.02 O Ring 12x 3 (4) # 21 KDP3.21 Gasket (4) # 40 KDP3.40 Adapter (1)

3 KDP3.03 Anti Friction Seal (4) # 22 KDP3.22 Screw 3/8 PT (5) 41 KDP3.41 Nipple 1/4 x 1/4 (2)

4 KDP3.04 Connection Shaft (1) 23 KDP3.23 Discharge Metal (2) 42 KDP3.42 Base Frame (2)

5 KDP3.05 O Ring 24 x 3 (2) # 24 KDP3.24 Screw M8 x 45L (8) 43 KDP3.43 Muffler (1)

6 KDP3.06 Bush Neck (2) # 25 KDP3.25 Adapter (1) 44 KDP3.44 Nipple 3/8 x 1/4 (1)

7 KDP3.07 O Ring 14 x 2 (2) # 26 KDP3.26 Adapter Nut (1) 45 KDP3.45 Adapter (1)

8 KDP3.08 Retaining Ring (2) 27 KDP3.27 Air Chamber (1) 46 KDP3.46 Pressure Gauge (1)

9 KDP3.09 Aluminium Washer (2) 28 KDP3.28 Gasket (1) 47 KDP3.47 Suction Hose (1)

10 KDP3.10 Stainless Steel Nut (4) 29 KDP3.29 Valve Body (1) 48 KDP3.48 Adapter Nut (1)

11 KDP3.11 Diaphragm (2) # 30 KDP3.30 Piston (1) 49 KDP3.49 Adapter (1)

12 KDP3.12 Aluminium Washer (2) 31 KDP3.31 O Ring 20 x 2 (2) 50 KDP3.50 Strainer Assembly (1)

13 KDP3.13 Stainless Steel Nut (2) 32 KDP3.32 Cover Body Valve (1) 51 KDP3.51 Discharge Hose (1)

14 KDP3.14 Diaphragm Chamber (2) 33 KDP3.33 Spring Washer (6) 52 KDP3.52 Nut, Fitting (1)

15 KDP3.15 Spring Washer (16) 34 KDP3.34 Screw M6 x 20L (4) 53 KDP3.53 Fitting (1)

16 KDP3.16 Screw M8 x 20L (20) 35 KDP3.35 Pin (1) 54 KDP3.54 Plastic Filter (1)

17 KDP3.17 O Ring 20.8 x 2.6 (4) # 36 KDP3.36 O Ring 10 x 2 (2) 55 KDP3.55 Stainless Steel Filter (1)

18 KDP3.18 Valve Seat (4) # 37 KDP3.37 Cover Body Valve (1) 56 KDP3.56 Stainless Steel Spring (1)

19 KDP3.19 Ball Valve 5/8 (4) # 38 KDP3.38 Air Regulator (1) KDP3.RSK Reservice Kit includes items marked #

Updated:  June 2013

1300 277 729  1300 2SPRAY     ANEST IWATA AUSTRALIA  www.anest-iwata.com.au

 KDP3              2SPRAY Double Diaphragm Pump


